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QUESTION 1

What is the expected time delay for Azure AD logs to become searchable in the Microsoft 365 Unified Audit Log? 

A. 5 to 15 minutes 

B. Up to 6 hours 

C. Up to 24 hours 

D. 24 to 48 hours 

Correct Answer: C 

 

QUESTION 2

What 1$ a drawback of analyzing a snapshot outside of AWS? 

A. Incomplete data 

B. Long download time 

C. Incompatible image format 

D. Low latency 

Correct Answer: B 

 

QUESTION 3

A threat actor conducts brute force attacks against SSH services to gain Initial access. This attack technique falls under
which category of the Google Workspace MITRE ATTandCK matrix? 

A. Defense evasion 

B. Discovery 

C. Credential access 

D. Collection 

Correct Answer: C 

 

QUESTION 4

Communication between the VPN client and Azure VNet1via VPN Tunnel #1 is using which of the following
connections? 
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A. Point-to-site VPN 

B. IPSec 

Correct Answer: A 

 

QUESTION 5

Which statement describes how an organization could use IPv6 in a Google Cloud deployment? 

A. IPv6 has to be configured for each compute node Individually 

B. IPv6 b enabled by default for global traffic between VPCs 

C. IPv6 is enabled by default for traffic within VPCs 

D. IPv6 needs to be terminated at an edge load balancer 

Correct Answer: D 
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